R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, FL-14163.3

J. Sussman, Inc.

Since 1906

109-10 180th St. Jamaica, NY 11433

6400 Series

EXTRUDED THERMALLY BROKEN ALUMINUM WINDOW

FIXED OVER AWNING
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2007 Florida
Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone” (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and excludes Wind Zone
4 gs defined in ASTM E1996.

For 2x stud framing consiruction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevation, general notes and design pressures

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck

Frame anchoring - 1X buck / direct to masonry

(o3 L6, ) BN 4] | 6]

Bill of materials, glazing detail and components

60.0" MAX. FRAME WIDTH

56.5" MAX. D.L.O. WIDTH

72.0" MAX. FRAME HEIGHT

l——~ 30.19" D.L.O. HEIGHT —=|  |=—33.25" MAX. D.L.O. HEIGHT —==

/ N
N
/
/ \ //
/ N 4
N\ /
¥
/ X O\
//’f/’;/// \\
a4 AN
/ \\
7
53.44" D.L.O. WIDTH

60.0" X 72.0"

56.5" X 33.25"

53.44" X 30.19" Gi + 65.0

- 65.0

g ¢, N3
Mmoo 3
g 2-X8
Z mm\,\ﬂ'
—.r\cm\
.20 o
'Ql""-_o z
z 384 BN
g =
FEB 25() o
a>" 8% o
— 4w N
Zow 0T =2
v O M Lo E
80N3n'..., %
TIRA\
59 .825 [
ﬂ.—DDU
PRaE 8L S
o B o
0 § o2 s
- ox et
c Ct
o o 9
P &
3
Q
o]
[
W
L
= s
&) >
zQ =W
== (Y7
== | °g
=) =0
%L-!'_J OS=
= . 2
28 |38 =5
wn zah.l
o Wl a0
- O 0| W
= <3
L
5 x S{)
2 o &5
8 |5~
o o
>
m
)
=
O
wn
ol
[N
L
<C
(]
o
=z
oate: 10/18/10
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—14163.3

SHEET 1 oF 6

@ 20710 R.W. BuiLDING CONSULTANTS INC.



1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, 2.3

R:AA - Projects\Project Folders\proj 1501 -

g ¢ 3
N/ g 1253
3 %4 Za5 8% N
SEE DETAIL 3/ N PEEENN
/ 71N ! LB 5 Y
O Iz <\ LA
& p-2 o8 o5
7 S < 5825 0%
/i é . S o xfn B NS
/ Y, T
4 o NOTES: 235580 V"
a G B n I. Vent adapter secured to frame with E R 2 £ B 2 §
o item 9, 6 each ot head and sill and 2 § ¢ 5
2 7 INTERIOR & 4 each at jambs {equally spaced). E 55
/. ' ; 2. Glazing sfop secured to frame 3 @ = o
Foa with item #8 or #12 spaced 12" O.C. throughout. 8
X 5 e 7T 3. Anchor strap secured fo frame with
1 - _ item #5, one per strap. = %
aw 7 O 8 &
G1 [ I = g z B
. 5| B
eis] ¢ v w
= I oy
1 v g E .. 8
e o
3 v % &)
'3 ' ’ - § gl 2
© 2k
e
SEENOTE2 TYP.) (12 > Ol &
C g S
a E:) % I
&_. 4 n o [
-
EXTERIOR
SEENGTE 1 (TYP.) o
INTERIOR /"1 HORIZONTAL CROSS SECTION
w Direct fo Masonry 9
)
o SEE NOTE 3 (TYP SEENOTE 3 {TYP.) m
:
INTERIOR
Lal
=
gﬁ_ = = AR °
¢ O
J | v =
| | SEE NOTE 2 (TYP.) :
| | EXTERIOR { I N DATE 10/18/10
EXTERIOR 23 22 WG, BY: JK
/~3 " HORIZONTAL CROSS SECTION DETALL 1 oK B LFS
\2/ 2X Buck Consfruction Comer Construction m HQRFZONTA,. CROSS SECT'ON DRAWING NO.:
‘ w X Buck Consfruction FL—14163.3
SHEET _2 OF &

€ 2010 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, 3.3

NOTES;
1. Vent adapter secured fo frame with

item 2, 6 each af head and sill and

4 each at jombs (equally spaced]).
2. Glazing stop secured to frame

with item #8 or #12 spaced 12" O.C. throughout.
3. Anchor strap secured o frame with

item #5, one per strap.

SEE NOTE 2 (TYP.}
1) M Gi

INTERIOR

SEENQTEZ (TYF’.) |

EXTERIOR

a i IS
N g v. ¥
9 a . " v
4 .
. ' a ‘7; ;‘3 &
. 9 v .
CE : v
V. @9 o - v

/73 VERTIC AL CROSS SECTION
Qj M Buck Construciion

INTERIOR

/"1 "\ VERTICAL CROSS SECTION

W 2X Buck Construction

SEENOTE2 (TYP) (712
1 W
W\
JE']J
EXTERIOR
()"

SEE NOTE 2 (TYP.)

14

Gl

16

/"2 VERTICAL CROSS SECTION

\3/

9 ) SEENOTE | {TYP.)
INTERIOR

813.859,9187
. 9813
P /e

P.O. Box 230 Vualrico FL. 33525
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
Florida Board of Professional Engineers

Certificate Of Authorization

J. SUSSMAN INC
6400 SERIES WINDOW

VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

L
<L
[
S
=
0

pate: 10/18/'1

SCALE:  N.T.S,

DWG. BY: JK

CHK, BY: LFS

DRAWING NO.:
FL—14163.3

SHEET 3 of 8

@ 20710 R.W, BUILDING CONSULTANTS NS,



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, 4.3

12" MAX
O.C.{TYP} 4 .
(TYP.} =
S g / (
4 .4‘-‘ N q : . - :
S s | ! | I :
- - |
2% BUCK\ e _%M MULLION
MASONRY — e T
OPENING SHOWN e
FOR REF. =
'ﬂ' '0; gw ] i i i -—-»E
2 € q“‘ “ gﬁ‘v lqu:'v\
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge distance and center disiance requirements,
2. Concrefe anchor locations at the comers may be adjusfed to maintain the min. edge distance to mortar joints. Concrefe onchor locations nofed
as "MAX, ON CENTER" must be adjusted fo mainiain the min. edge distance o morfar joints, additional concrete anchors may be required to

ansure the "MAX. ON CENTER" dirmension are not exceeded.

3. Concrete anchor fable:

ANCHOR | ANCHOR | MIN. 1 MIN.CLEARANCETO | MIN. CLEARANCETO
CTYRE | SIZE | EMBEDMENT | - ADJACENT ANCHOR -
ITw /4" 1-1/4" 24T ¥
ELCO 1;4“ 1»1[4“ 'Ill’ 4“

‘h _b.' .
.lb -'-' -
&_pﬂ
=3
-
8I|
{TYP.)

|
]

ﬁ[:::z:::::::—:::::::::::: 4 MULHON
SHOWN
FOR REF.
_ _
‘.f."-ilg"g' X ?EE
iz-"’; W e o

BUCK ANCHORING
2X Buck

P

o. 8813

BUILDING CONSULTANTS, INC.

P.0O. Box 230 Vvalrice Fl. 33595

Phone MNo.: 813.859.9187
Flerida Board of Professional Engineers

Certificate ?uthorﬁz%

Ry

Documents Prepared By:

Lyndon F. Schmidi, P.E. No. 43409

J. SUSSMAN INC.
6400 SERIES WINDOW

PART OR ASSEMBLY:

PRODUCT:

BUCK AND FRAME ANCHORING—
2X BUCK

BY

REVISIONS

L
<
()
o]
=
0

DaTE: 10/18/1

SCALE:  NL.T.5.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FlL—14163.3

sEeT 4 oF B

© 20710 R.W. BUILDING CONSULTANTS IND.



R\A - Projects\Project Folders\proj 1531 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwqg, 5.3

8!!
(TYP.]

ﬁ MULLION

4‘ -

SHOWN
FOR REF. o
D >
e =
=l i 1
f S i g
BUCK ANCHORING
1X Buck

Direct fo masonry

CONCRETE ANCHOR NOTES:

1. Substitution of egual concrete anchors from a different supplier may have different edge distance and center distance requirernents.

2. Concrete anchor locations af the comers may be adjusfed fo mainfain the min. edge distance to mortar joints. Concrete anchor locations nofed
as "MAX. ON CENTER" must be adjusted to mainfain the min. edge disfonce to mortar joints, additional concrete anchors may be reguired 1o
ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor fable:

ANCHOR | ANCHOR | WiN. | Min CLEARANCETO | MIN. CLEARANCETD
COTYPE | SIZE | EMBEDMENT | MASONRY EDGE | ADJACENT ANCHOR
ITW 3/16" 1-1/4" 1-1/8" ar

P.O. Box 230 Vairico Fl.. 33585
813.659.9197

Phone No.:

[?% AN

BUILDING CONSULTANTS, INC.
Lyndon F. Schmidt, P.E. No. 434089

Florida Board of Professional Engineers
Certificate Of Authorization No. 29813

Ry

Documents Prepaored By:

J. SUSSMAN INC
6400 SERIES WINDOW
PART OR ASSEMBLY:
FRAME ANCHORING=

PRODUCT:

BY I1x RUCK / DIRECT T0 MASONRY

REVISIONS

L
<
)
3
=
0

paTE: 10/18/1

SCALE:  N.T.5.

Dwe. BY: JK

CHK. BY: LFS

DREWING NO.:
FIL—14163.3

SHEET 5 oF 6

© 2010 R.W. BUILDING DONSULTANTS NG,



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, 6.3

IR

\-—»— 2.05" —=]

4.5

. L, 0.46"

O
S
. ANCHOR STRAP

CONTINUGUS HEEL BEAD

¢~ DOW CORNING 995

1/2" GLASS BITE

POLYSHIM GLAZING TAPE
9/16" THK.GLASS

-1/4" HEAT STRENGTHENED

075" VANCEVA PYB
INTERLAYER BY SOLUTIA

\ CAP BEAD DOW CORNING 995
%

W\\“T /4" HEAT STRENGTHENED

" SILICONE COMPATIBLE SHiM

@ GLAZING DETAIL

;

. CORNER KEY

BILL OF MATERIALS

Docurnents Prepared By:

813.659.9197

LS Y e

F.0. Box 230 Valrice FL. 33585
Lyndon F. Schmidt, P.E. No, 43409

BUILDING CONSULTANTS, INC,

Phore No.:
Floridg Bedard of Professionol Engineers

Certificate Of Authorization No. 2813

Ry

J. SUSSMAN INC

6400 SERIES WINDOW

BILL OF MATERIALS, GLAZING
DETAIL AND COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

iTEM # | DESCRIPTION MATERIAL
A 1X BUCKSG >=0.55 WOOD
B 2X BUCK $G >=0.55 WOO0D
C 1/8" MAX. SHIM SPACE -
D 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 3/16" X 2-1/4" TW CONCRETE SCREW STEEL
G 3/14" X 1-1/2" TW CONCRETE SCREW STEEL
1 FRAME ALUM/6063-T5
2 MULLION ALUM/6063-T5
3 VENT ADAPTER ALUM/6063-T5
4 CORNER KEY ALUM/6063-T5
5 #10 X 3/8" PPH MACHINE SCREW S8
b ANCHOR STRAP {4" X 4-1/2") ALUM/6063-T6
7 #14 X 1-1/2" HWH SMS STEEL
7 #10 X 5/8" PPH SELF TAPPING SCREW 38
10 VENT SASH ALUM/6063-T5
11 GLAZING STOP COVER ALUM/6063-T5
12 #8 X 5/8" PPH MACHINE SCREW 5§
14 GLAZING STOP ALUM/6063-T5
16 VENT GASKET (Q-LON} -
19 SASH CAM LOCK BRONZE
21 DOW 995 SILICONE
22 BACKING ROD FOAM
23 PLYWOOD FILLER PLYWOQOD
27 HEAVY DUTY SNUBBER -

L
<1
(]
3
=
0

pate: 10/18/1

scaLe:  NT.S,

WG, BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—14163.3

sHEET 6 oF 6

REVISIONS

(@ 20710 R.W. BUILDING DONSULTANTS IND.




